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$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 218 T 1,322.4 277 51
THI 65.2 50 20
AATHLA 52.5 839 201
JUFHLA 185.2 1,100 139
LSHLA 395.2 429 20
TFELSHLA 529.2 901 102
=EHLA 421.8 309 20
IALA 355.8 678 295
<aHLA 74.5 1,010 100
<55 29.3 119 21
FARLY 632.8 1,256 289
<7Fd 61.3 1,200 539
SCat 60.7 700 319
TYUAVTAFA 65.5 111 20
F7> 07 1,922.7 270 20
HFHS 356.3 33 20
FWIAI UL 86.2 740 20
FAF A 49.1 1,300 269
ALY 58.8 4,000 509
Vo INY = 27.0 | 12,811 9,300 | o
AL+ 29.3 193 21
RG] 534.5 800 33

it 7,315.3




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SHEE 21% ZILAA T 257.3 456 69
ZILAA 58 655.0 4,049 1,050 ﬁf“‘“/s
1 c/s
YUAH 1,347.3 377 87
e ?&%75C/S
7o 58 375.0 1,901 a11 g2 7
=247 41.6 551 339
£ T 1,767.2 460 72
FEF~< T 626.8 1,670 800
|itsE 12,385.5




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &

BEEXRE 158 (W51 69.1 700 201

>0OX/)VUL 71.4 1,500 1,029

S5 34.0 829 473

AXF 426.7 839 439

AFIA 35.3 2,000 191
finER¥E 55 > A 34,070.3 354 50
mUiE 38 S5 23.5 700 600

XXF 102.0 700 500
BHE 72 HRwFHA 1,720.9 430 202
#D 38 JU 115.6 279 30

E=5X 23.2 1,650 589
hZ 258 EXTVYVRS 198.8 200 103

ait#E 36,890.8




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
SHEE 19%
BEEXRE 158 (W51 97.3 1,350 300
AXF 273.3 1,100 500
mUiE 38 XX+ 20.6 1,050 600
#D 38 E=5X 610.0 2,000 600
e 28 <73 46.0 1,300 1,000
WNC 258 <A 506.7 1,300 900

T2

1,553.9




